Dividing Integers (D)

132 = (=12) =
132 = (—11) =
110 = (-=10) =
110 = (-11) =
99 = (=9) =
81 =~ (—9) =
99 + (—11) =
108 ~ (-9) =
80 - (—8) =
96 = (—12) =
88 =~ (—11) =
88 +~ (—8) =
121 = (=11) =

Date:

Calculate each quotient.

72 = (—8)
144 = (—12)
90 =~ (—9)
33 = (=3)
21 = (=7)
12 - (—6)
77 = (—11)
27 ~ (—9)
40 = (—10)
96 = (—8)
30 = (=5)
16 - (—4)

Score:
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Dividing Integers (D) Answers

Name: Date:

Calculate each quotient.
132 = (-12) = —11 72 =+ (—8)
132 = (=11) = —12 144 = (—=12)

110 =~ (=10) = —11 90 + (—9)

110 = (=11) = —10 33 = (=3)
99 = (=9) = —11 21 = (=7)
81 = (—9) = -9 12 + (—6)
99 - (—11) = -9 77 = (—11)

108 = (=9) = —12 27 = (=9)
80 = (—8) = —10 40 = (—10)
96 = (—12) = —8 96 = (—8)
88 - (—11) = -8 30 = (=5)
88 ~ (—8) = —11 16 + (—4)

121 = (-11) = —11
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